51.

52.

5

54.

pAPER - I (LABOUR Wi pARE)
Which one of the following is not included in the classification of Trade unionism according to

Rob
obert F. Hoxie ? (2)

(1) Business Unionism 4) IF)rlend]y Unionism *
Peasent Unionism ( redatory Unionism

()
T T BTN 3 SR Frfefad 3 A H T e (e i) gm e o A § e @
22

(1) =R FeaR (2 ol SEE I
@) FIF GFER (&)  Srng e A
Match List I with List II. \
List - I 9N List - IT
Books (O Authors
A.  The communist Manifesto. g it Harold J.Laski
B.  Trade Unionism in the new society- II. Karl Marx
C. A theory of the labour movement. III. Ashok Mehta
D. The mediating Role of the Trade Union in IV. Selig Perlman

Under developed Countries.

HEIT-1 % 1Y Geit-11 =1 fHar S :

Gei-1 Fe-11

W = ?:T'@ES
A, T FRE AR L TeS S, T
B. ¢S Ifaftd e g = SEEe I & A
C. TR &% g o yade L 370 Hedl
D. ammmaz@qﬁmﬁmm Iv. Sfer g

Choose the correct answer from the options givefl below

= feu TTu famedi 3 9 a3 1 =97 &IST ;¢
(1) A-I, B-I, C-IV, D-IIT (2) A-II, B—I, C-II, D-IV*
(4) A-I, B-II, C-1II, D-IV

(3) A-1V, B-INI, C-TI, D-I
Which of the following is not the approaches in charting the Career Paths according to Rothwell

and Karzans ?

(1) The Traditional approach (2) Career Path approach

Career Goal approach

(3) Lattice or network approacht  (4)
e Td g o STAR Sfaawl-Ar (i 97) ﬂmmmﬁﬁmﬁﬁ@aﬁ-mwm
39T /gt 7E 72
(1) YOI SUITH @) mwﬁ (HftaR-die) YT
() Wfed sgar 2deh SUH ) e, () weA ST
As per Factories Act, 1948, which section of the AEﬁlSCUSS about the “Right of Workers to warn -
about imminent danger” ?
Section 41E (2) Section 41F (_@chon 41G* (4) Section 41H

@)
FRET AU, 1948 % STER SAufEm S FHE 97 7  SE Tl 6 o) H FHHHRI Hl < 6

S & AR F == T § 2

(1) v041F (2) Hm4149 (@) HU41D 4) HRI41 S
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55.

56.

57.

Which of the followings are CUIthaI 3
developed by Greet Hotstede anq his dllmensi
Ollegyq

ons of model called ‘Four dimensions of culture’
re

A. power distance s ?
C. masculinity B, uncertainty avoidence
articipative

Choose the correct answer from the opt s
1 A, B, C onl 2)NE Ons oiyen below :

;?;ata-étg sﬁtwyasmtg‘f%m gﬁchqu' = Om,y ) g(3) A, C Donly  (4» A B,D only
X - gy o <IR ST THF HISH % Wiaheer S7mam Frerfian

A. U= fee i
B. (Jfwerht ufer

C. 5« o R

ﬁ%mmﬁWﬁ@uﬁmmm%@

(1) FABC (2 ¥WE@B.Cp (3 FTMACD (4 A B D

k‘:\,thC:ncgatFeG?il:wmg 1:‘ tmcel regardmg the fnambers of Central Advisory Committee constituted
y rmment under the Bmlding and Other Construction Workers (Regulation of
Employment and Conditions of Service) Act 1996 ?
A. A chairperson to be appointed by Cehéral Government.
B.  Three members of Parliament of wh, 11 be elected by the h
f

by the Council of States. O e B © ot - g ome
C. The Director General-ex officio member
D. Other members not exceeding 20 but not Jess than 12 nominated by central government

representing employer and building wotkers only. ‘
Choose the correct answer from the options E;én below :
(1)» B, C, and D only 2) <A
(8) Cand D only @)
I SR 1 FTAI FHFR (P SR Aoy, 1996 % S 2w ST 5 Tiad e
HATEHR Tl 5 Fewi o 9 F FeAifha § Q 3551 Ho T $72

A.  FHHEF GER gR SERTEA H g # sy

B. I HHS 9 fS9H <1 95 Tishd ¥ @ik U Hewd T URue gri faitad wnt |

C. TeIfeues-ed FeH | :

D. 39 9aH 20 9§ U fheg 12 § 317 ot e iR saq fHio SHaR o1 gfaffie S &
foIT g TR gRI AMMAfGR forg San |

= fou TTu fashedi § 9 Het S A1 997 Hifsg :

(1) %ad B, C 3R D ) WA,Baﬁtc

() ®%ad C 3R D ) ;é;{B,caﬁI D

Which of the following is not a dependent vatfable in the study of organisational behaviour ?

(1) Personality (2) Productivity ((3) Efficiency (4) « Absenteeism
Ww%amqﬁﬁ%mﬁmﬁﬁgjﬁ@ﬁa—wqﬁ%?
(1) =i @ waEEa @) FEEwEm @) s
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58.

593

MatchLiLsitst II with List II. T
Acts Year of Enanctment

A.  Coal Mines Provident Fund and Miscellaneous Provisions Act A 1052

B.  Employees Provident Fund and Miscellaneous Provisions Act I. 1948

C.  Payment of Gratuity Act O 13 1‘;?;

D.  Maternity Benefit Act 2 ¢

-1 % 9 Gelt-11 7 e FI0 2 N
i1 = -
STy ‘;‘ B srfuftems ad

A. e G i qen et 39 SE L 1952

B. el il si weid v AT I 1948

C. STE §em stfufm oL 1961

D. wgfq ygfaen sifufem V. 1972

Choose the correct answer from the options given below :

e oY T farehedi # & Tt st 1 = HT -

(1)  A-I, B-I, C-IV, D-II (2) € A-1, B-II, C-III, D-IV

(3)s A-II, B-III, C-I, D-IV (4)==A-1V, B-III, C-II, D-I

1
\
There exists both preventive and curativq_fr:f’leasures for occupational Diseases. Which of the
following are preventive measures for occupational diseases ?
A.  Pre-employment and periodic medicalféxamination
B.  Provision of first aid and ambulance'service.
C.  Removal of health hazards to the extent possible
D.  Restriction on employment of women at certain hours and places.
Choose the most appropriate answer from the options given below :
(1) AandBonly (2) AandConly (3) BandC only
AT =HIRET &g AR U6 SY=M 39/, S SUaie € | FefarEd o 9§ S s1eaar dmiE
% foaw fHare U™ & 2 O
A, FrISA-9d we safue fafeor we —
: : |
B.  WEfHe Herd Td T dal F m'ci%n:r\_a
C. 391 §9d EEA Tall &l QT AT n
D. i w2l T T W Afeeel & e iR e
.' . | P
= o T fohedi H & Fad SUGaR ST 6l =FT BT ;
(1) H9AAB (2) A AARC (3) FIABIARC (4) Fae BRD

(4) Band D only
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60.

61.

Match List I with List II.
List - I

Causes of employees List - IT

absenteeism Reasons

A.  Employee Attitude

T I (Fhotor as per Labour Investigation Committee repor
o g

C.  Rural Exodus il_l-_ﬂuence R

; } I:iiﬂuence of organisational policies

Indebtedness =
W—I%WQTW—HWWW: £
HEit-1

AN Tqufeiy & o
A, FHEN sifgly
B. it wftere
C. U frfgm
D ESUPES|
Choose the correct answer from the options g;i__n below :
ﬂ%@mﬁaﬁﬁ@@wwwaﬁﬁgﬁa |
(1)~ A-IV, B-I, C-II, D-III (2) AL, B-II, C-IV, D-II
(3) A-IV, B-III, C-II, DI @ K4 51, cm, pav

Government of India became concerned about occupational health after the recommendatic
of :

(1) 1% National Commission on Labour

(2) Royal Commission on Labour

(8) Second National Commission on Labogiri_:‘

)

(4)e Adarkar Committee Report
feeeht Wl o TTaId AT W@ & i
(1) 9¥H TLE g7 S ﬂ
(2) 7 HeiH T A @
(3) gm geieh fada i

(4) TSR Hfufd e
21




62.

63.

64.

Match List I with List II.

List - I List - II

HRD Framework Developer/Propounder
A.  The Integrated HRD System APProacgl I. Ulrich and Lake
BSERSTThe Strategic Framework Approach ﬁ» II.  Udai Pareek and T.V Rao
C. Human Capital Appraisal Approad]\; III.  Friedman
D.  HRD Score Card Approach AN IV. T.V. Rao
-1 & T Geh-11 1 fre I : i nN

eI N Hefi-11

TSRS, g (.. forerTeRat / wfaareenat
A.  ThHisd TH.R.EL. Jorel! SqH I 3@ T o
B.  Trifteh ®R@Ri S II. 359 i T Al 1@
C. M YSit g g I e
D. TSRSl @R %€ 39rm Iv. 2l @
Choose the correct answer from the options given below :
A 1 T o 4§ et s o = LD
(1) A-II, B-I, C-III, D-IV (2)"=’!AI B-III, C-IV, D-IT
(3)° A-II, B-Il, C-I, D-IV @A BI CI1, DIy

In economics, the concept of utility :
(1) Is ethically neutral» ‘j-;
(2) Is ethically not neutral i
(3) No question of ethics is involved
(4) The issue of ethics is involved

AL H, STHIMTAT il AR :

(1) Ao T 9 qe= 2

(2) At €9 9 T2 7L 2 |
®3) ﬁﬁmwﬁé%ﬁmﬁmﬁa@m%ﬁg
(4) S 1 T e 2 E | )

PN
Which of the following is an internal sourcd of recruitment ?
(1) Educational Institutions (2);_JLabour Contractors
(3) Transfers (4)_C Placement Agencies

frefafad 9 ¥ HHE-91 T Sl 1 =1 S 2

Py
"

(1) few FEE (2) i 3ha
(3) TR (4)-  Frirer/ T it
22 055




65. Which of the following is the style of 4 T
a [y

66.

i ans tional Leader ?
(1) Contracting exchange of rewards gy, sffforma
elfort.

(2) Intervening only if standards are not mey

(3) Being watchful for deviations from ruleg .

(4)» Promoting Intelligence, rationality anqg c;areful problem solving.
mwmﬁaaﬂﬁ%ﬁﬁqﬁaf@@?@%ﬁ%?

(1) S ¥ WA % STRE-521 Ao |

) @Wﬁﬁﬁﬁ%%?ﬁﬁﬂlwﬁ;{%xﬁmmml

(3) aHl % Seeis & 9fd wad e ¢
(4) T, TRt oI S e sy # S  A

Which of the following is criteria under section 22(2) of the Industrial Disputes Act, 1947 that no
employer carrying on any public utility services ghall lockout any of this work place ?

A.  Without giving them a notice of lockout.
Within fourteen days of giving such a notice,

During the pendency of any co: :jll"étion proceedings before a concillation officer and a week
after such proceedings. I .

B
C.  Before the expiry of the stipulated period.
D \Gilia

E. During the pendency of proceedings before a labour court, industrial or national Tribural

and 2 months after the conclusion of such proceedings.

Choose the correct answer from the ojpii)ns given below :

(1) A B, CDonly (2. BCD, E;_j_ﬁ_;_xly ) A,CD,E only 4) D,CE Aonly
ST faare SiffEH, 1947 1 HR122(2) % SHH F=ihd § § M W AMas § {6 i ST de
T ST SIS 4 TR 379 BRI F hlE Al A6l H 2

A. 5% dreEd i ge e for

B. 39 3(RM &I Yol BIGe fad & il &1 T

c ﬁﬁawﬁw%w@q@ﬁﬁ

D wwwmtwam@wmmwm@%mﬁnwmﬁm

% % TH qEre | <t
Wwwmmmw%wamﬁﬁm@%mawwmﬁ

G % GHI 6 & HIE e | C__;__\ﬁ

3 for T foredl B @ W I B AT FAC
(1) % A B CD () %9 B,C,D,E (3) %9d A, C,D,E (4) &aa D, CEA

E.
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67.

68.

69.

Match List I with List IL Li II
List - I ey L U A

A.  Concern for people and product! Ii I;eter1 Drucker

B.  Determination of Objectives IIi Y Ae) oo

C.  Cooperation, not individualis™ o Blake and Mo

D. Scalar chain ; - Taylor

i1 % wre geft-10 ot firee i (L)
N o -

A, O TE SERA 37 THER R L e g

B. ¥l @ fufor I. %A

C. Fe&m, 7 v SafHaR 4= I = T HIsed

D. TheR S@al (@) IV. W

Choose the correct answer from the opﬂonS glven below :

e R T foemedi § § W 3w w1 W

(1) A-I, B-I, C-IV, D-I @s AL B-II, C-III, D-IV

(3) A-IV, B-III, C-TI, D-I (4) A-L B-II, CI, D-IV

Arrange the following welfare provisions Of the Factories Act, 1948 in order from earlier to later as

per their sections.

A. Dust and Fumes B.  Spittoons

C.  Artificial humidification D. Disposal of wastes and effluents

FREM AfUFH, 1948 F Frafafad FAPERR TFHH 1 ST TS & STTER IRY § o1 & % |

AT FHIT

A, YA T Y

C. iH STy -

Choose the correct answer from the optionis.given below :

e ST T faeredi F 9 We IR 1 wa HIY ©

@) A (2)y A,D,G B¢y 3) B,C A, D (4 D,ACB

Arrange the provisions relating to Payment of Wages Act, 1936 as per their sections from earlier to

later.

A.  Deductions which may be made from wages.
B.  Time of payment of wages.
C. Appointment of Inspectors.
D. Fixation of Wages period.
Deduction for recovery of Advances.

D:
Hegdl Hag AfufTam, 1936QW%WWﬁWWQ%WWﬂﬁW?WﬁW
I |

A. Hogd § &I S arelt St ES
B. HSIgU-Hed (YTdH) I 994 Y
D. Teigl-2@fy (F9F) F1 fHERo )

E. il &l it &g Serdt
Choose the correct answer from the options given below :

9 fou U fashedi § 9 W& SR Hl T4 HITST :
(O)BNDABYEXCYASER (2D B AN CHNR(3IBEGRANESDEEN (1) E B,C. D, A
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70.

Al

728

Labour Welfare measures cannotbe g
of an organisation. This is focal

A.  Principle of Adequacy of

“bsﬁtute for wages and it must spread through, i
. out
PoInt of 1. principles of Labour Welfare i l»l e

Wages B iqciple of co-ordinati :
C. Principl R - B. Pprincip ation or Integration.
o ntxlmmp e of Responsilblhty D. principle of Totality of Welfare,
- oosi 1ed nl;ost appropriate answey from the options given below :
. S ) -
1) an 3;.:1}’ (EZF)T A an:‘c;.\r Crority @ A andDonly (4) DandcC only
AP FHedmT TG i ferhey [ By Tersll T3 o T Wit ifew
ﬁmw%mmm%@ﬁﬁm@ =gy |
A. ua@—w‘ammﬁ@'a F:B' guad STl Thiho &1 fagia
C. SuwifuE 1 fagia . qercl el i g
ﬁ%ﬁqmﬁwﬁﬁﬁmm%{%mm:
(1) ¥ ASRB () ¥adAsRc (@) T ASRD (4 FewD R C

Which of the. followin.g is unfair labour Practices on the part of workmen and Trade Unions ?
To advise or .actlvel}.f support or investigate any strike deemed to be illegal under this Act.
For a recognised union to refuse to bargain collectively in good faith with the employer.
To stage demonstration at the residence of the employer.

Thr.eatem'ng workmen with discharge or dismissal, if they join a trade union.

To incite or indulge in willful damdge to employer’s property.

Choose the correct answer from the thfbns given below : .

(1) ABConly (2 ABCDony (3) ABCEonly (4) B, C, D, E only
HHBR IR F9 G HI R ¥ F=ifwa TR ergfed 97 AR © 2

A. =9 IfufEE F ST EY N ST fedt sedla FI SR S, SHH SR GeA & See
ST A | »

el % T19 FeTe H THfeh ©9 Y TRarsit 31 A A 1 SR ST R e
e < STEE T ET-9e0 T |

THHHRT o g9 Fo H AMHA B T TG 1 YA B 1 GHBI < |

E. fodisa &1 Hufd i STeeh? &fd i & e g T 1o 36 Ficd | e e |

g fou 7 fashedi B § Wel 3T 1 997 ST ;
(1) *adA,BC (2 FaMABCD (3) #%adABCE (4 FIB,CDE

MO0

90N w

“An employee transferred from subsicilia’fy company to head quarter of Multinational corporations”
3

—-(2) Inpatriates
>@) Foreigner

is termed as :
(1)« Expatriates

(3) Guest Employee :
ey S T S IR i G (FEE) A § g § i e S e,
FHEAT © © O
(1) weifzeeE (FEifEd) (2) FHCEH (STHEE)
@) sfafa FHeE (4) focsit
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73.

74.

75.

Who has defined Labour Welfare as
“anything done for the intellectual, physical, moral and economic betterment of workers, whether

by employers, by government, or by other agencies, over and above what is laid dOWE 127 LA d(?,r
what is normally expected as part of contractual benefits for which workers may have bargained”.
(1)  Report II of the L.L.O. Asian Regional Conference

(2)¢ Labour Investigation Committea (1944-46)

(3)  Report of the Committee on Labour Welfare (1969)

(4) Rege Committee -

e o7 e =1 5 = gl e

“FHARI % e, TR, S SR s @y g W S GR, STerel TR G, STl

SR SR foRel T ¢ it et forereh Seera oy 3 72t & spor for) S < S sl

0 mqﬁmm%ﬁwmmﬁﬁ@amﬁaﬁﬁn” :

(1) STETEIN, - o A e 71 R I

(2) =8 = qiHfy (1944-46)

() A Feam Gast Tk a1 fas (1969)

@) [ waS

Mary Parker Follett’s idea of ‘Integrative Conflict Resolution’ deals with conflict where :

A.  Both parties indicate their preferences and then work together to find an alternative that
meets the ends of both.

B.  Both parties give up a major portion of what they want, to reach a solution.

C.  One party satisfies its desire and promises the other to give preference next time.

Choose the correct answer from the options given below :

(1)« A only (2) C&only (3) AandBonly (4) A andC only

AR SIgg Shed B 30 UTeht B 1 R 39 siadg @ Qe & < -

A S T8 S SR e € T R 3 fen 1w 3 fere e 0 S, <3
T SR I G a1 T

B. I 94 e o Tge < forw, 3 ST AR ¥ Sk e o ) ore 2 B

C. TS 9% 3794 3fcoq ARl I il ¢ 927 STTet aR & foru o7 9et i S 23 < &1 9=

AR (@))
== feT T fashedi § & |& ST F 977 FI :
(1) ad A () adC @) FE@AMRB (4) Fa@ARC

Under Minimum Wages Act, 1948 which of the following can NOT be appointed by appropriate
government by notification under the official gazette for deciding claims arising out of payment of

less than minimum rates of wages ?
(1) Any commissioner for workmen’s compensation.
(2) Any officer of central government Exercising functions as a labour commissioner for any

region.
(38) Any officer of the s!%ovemment not below the rank of labour commissioner.
Any officer not less the rank of District Magistrate.

@)
qH HeGl ST, 1948%eh i frfafed 3 § fpaet fafa woeh % =mm w @ w0 ol
T T | I <1 HT ST F & Frored TS § SR SR T SR g TS
T Fehel 2 N\

(1) HFR FfF &g IS ST
(2) fordl & o U FAEDS T9 6 Fedi o faed ST ATl Heaid TR B RE ST

(3) FHIFH H T I 1 T TEHR &1 FIE b
(4) foren AfSEee 3 | =7 16 &1 9 st

055

26




TH/

76.

Match List I with List II.
List - I -
7 18t - 11 1
Strikes (Types) ;
A 1 anin
A. Stay-away strike I EpropllEiee s 2 ; :
: A group of employees‘mlerested In attaining certain
Objectiyes takes possession of property or plant, stop its
Produyctjon and refuse access to the owners and others
desiring to work. . e
B.  Stay-in strike I e/
; WOrkmen simply vdc‘x“not come to the work place during
; ; . the pregeribed wq;'kir}g hours.
C.  Lightning strike III. The strikers lay dOlef their tools or pen and refrain from
doing work thougt{u*they remain on the job in the work
place. { s,
D. Pen-down strike IV.  Strike syddenly ahnounced without Pproper notice.
-1 % T Fe-11 1 e Fif O
-1 HeEit-11

A, TR (R-3[) T&q@ I =i o v 99 Ha A1 649 R Fa0a S99 § Feel
AN 2, T IAIGT i Ueh <dl & 991 Tt U6 37 HiE H

I AT} <RT TAY F H AR © |
B. TIf-gsa . fuif srifafs @ FHER FEeEE T TG 99 €
C. Johld esaid III. wmmmmﬁr@éﬁ%wwma
T 8, 3 HRELIE W AR T o @ 8 |

D. $aH Ushl gsaid V. fom sfea Aifeq & &
Choose the correct answer from the options given below :
== fou 77T foshcdi | § HWal ST 1 T hiTT : £
(1)» A-II, B-I, G-IV, D-III (2) A-IL, B-1II, C-1V, D-I
(3) A-I, B-III, CII, D-IV (4) A-1v, B-III, C-I, D-II

Arrange the following studies relating to managing men at work from earliest to latest.

A. Scientific Management B. Behaviour Science Movement

C. Human Relations Approach D. Human Resouge Development Approach

i i e T 3 e A e e S ST & e 3 W H e
HIfoTT

N
A, AT FEEE B. AR foRT gefe

C. TMFA FeY SIH D. WA S e Sar

Choose the correct answer from the options given below g__ﬁ

3y i T e B T SR bl A I “Q

1) ACBD P SEAGIDE (O ECiA D° . (4) G ADB
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78.

79.

80.

der chapter VI of g, Building and Other Construction Workers

ns un
Arrange the following provisio: ot S A s B

(Regulation of Employment and Conditi
A. Creches B. D““kmg Water

C. Latrines and Urinals D.  Canteens

E.  Wages for overtime work

W@WWW(WWW@W@IﬁW) sfufiam, 1996 % AAM VI & T
ﬁwﬁ{r@ammmﬁmwama;wﬂmﬁww

A. R _‘,B W T
C. YiucE TS AeieE P FEN

E. SRR & =g Aol aad

Choose the correct answer from the options given below : '

e ST T foehedi # | W SO 1 = FIT
(1)) "E,B,C,A,D .\ (2), B,A,CDEs (3 ECATBD (4

91

A,B C D, E

Which of the following statements relating to the constitution of the Advisory Committee under

the Equal Remuneration Act, 1976 is true ?

(1) It shall consist of not less than tWelve persons of which one-third shall be women.

(2)« It shall consist of twelve personé-tgfi/vhich one-half shall be women.

(3) It shall consists of eight persons rion Tominated by the central government of which one-third
shall be women. =

(4) Itshall consists of not less than te

“'1

__‘_‘p ersons nominated by appropriate government, of which

(*2) one half shall be women. =
ﬁm@aﬁéaﬁq—mmwwﬁafw, 1976 < ST=id HeATehRI FATG o 7 § Hefed
T2
(1) Fe 12 AfFE g e areE s fors w-faer Afeand 2 |
(2) ¥ 12 AfFAEl 9 T s ST fas e afeant (ge=) 2 |
(3) FE F= THR gN THa 8 ARl F et st o ww-fer Afeand 2 |
) wﬁwmmaﬁamaﬁ@zﬁwmmﬁrﬁmmﬁ%ﬁn

Which of the following indicates a situ@n in which an individual is confronted by divergent role >
expectations ?

i ) Role Perception
(1) Role Identity (j) ole P

(3)« Role Expectation ) Role Conflict
Frefofed H & S 38 <91 I JGE FRe (e S =t o= v semns | w2

1) yfFe dReE () Y e
(3) fe1 ¥R (4) e sides
28 055




81.

82.

83.

Match List I with List II.
List - I

A.  Developing work force List - 1
; 1: 1
: orking full time to anal © department II.  Job Rotation
o A G e yse and solye Problems III. Role Playing
D Trainees act out-parts i 1A o~
situation. Parts In a realistic Managenent IV. Succession Planning
W—I%Wﬂﬁ?ﬁ-llwﬁmaﬂﬁﬂq; i
eit-1 ]
A. YN 9= =g FREKE AN S ﬁi I'ﬁﬁgﬁw
B. ﬁ@ﬁ@ﬁWﬁ@WWﬁ%mT” « :fi o
G awﬁmﬁwmmmﬁwm@mﬁy ML e
FH °q T THT R S
D.  Hivig Fenefadt ey I A UM o oy e 8 IV, sefeER (TT)
Choose the correct answer from the options given pelow :
e TR T forehed § | Wé ST B S i
G pEmenny e e e
NG e U (4) A, B-1I, C-I, D-IV

Arrange tl}e following types of plans in the correttprder from the top to bottom level of management.
A. Tactical Plan B.  Standing Pz C. Mission

TeE & WY TR H ST T FH Ao Frefefad YR w5 wated i -

A. g A B. T Ao c. fmm

Choose the correct answer from the options given below :

i< fou T fashedl § § Wl ST H1 94 it

(P ASGE @. CBA @) A BC @ CAB

Arrange the employment programmes launched at various periods in order of their launching

year from earlier to later.

A. National Rural Employment Programme

B.  Jawahar Rozgar Yojana

C. Mahatma Gandhi National Rural Employment Guarantee Act

D. Rural Landless Employment Guarantee Programme

Choose the correct answer from the options given below :

(1) » A,B_DandC (2) A,D,BandC ;(?) D,A,BandC (4) B,C Dand A
fafiwr stafy (F93) ﬁuﬁwmmmmﬁmmwmmmﬁaﬁﬁmw@m%wﬁ

AGfE HIfoTT |
A, T IO ASTR FHEsHH
B.  ETE USHIR ISl —

C. eI e AL AT AR TRE S,

D. IO YfHEH TSR MRS Hrefshd

= fow T fosedl § § WEr ST I 9 I :

(1) ABDIRC () A D,B3RC (3 DABIRC @4 BCDIRA
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84.

85.

86.

de ;
Arrange the procedure for pumshn?ent.usf; ] Orr ﬂ;? mode] standing orders from earlier to later before
Passing an order for suspension, dismis discharge,

A.  Issuing notice and holding enquiry

Receiving the defendants’ explanation-

Framing and issuing a charge sheet.
Findings of the enquiry officer and Dequl(,n of the Disciplinary Authority.

Communication of the order of punishmengs,

memmawm*%mﬁmmw%maﬁmﬁ
ARY § 37 & A § Fafeed Hig : AT

e Tt 3 T A ST

oy § Wit o

ARIY T FIR ST G241 S HT

ST ST 1 fren qen STgRIEID SHRT 7 fiofy

TS IS T FIT

Choose the correct answer from the options glven below

7 TR T forehedi & | WE SR = I
(1) ACBED (2° CBADE

B
C.
D.
RS

=l (8] (o) s

4) B,AGED

In case of illegal deductions from wages under the ayment of Wages Act, 1936, the employee can
file a complaint to the authority within a period of

(1) One month (2), Three months (3) Twelve months (4) Six months

HSR Her AU, 1936 F ST TR (394) 9 | Horg 1 Ferdt 53 S =51 &0 H HHan
T=ifRa § 9 Tl GramEm & Sk TR/ St & R 5 gl &2

(2) WHEE (3) dREHE (4) TTUR

(1) THAR

Which of the following is a hybrid organisational)structure in which two or more forms of
departmentation are used together ? e
(1) Product Departmentation (2) Matrix Departmentation

(8) Geographical Departmentation  (4) » Funcnonal Departmentation
frefafed § § #H-91 @ |9 (Fafe) wmz}m%mﬁﬁwﬂw%a YT SATYH TG
T | TG fohAT STl © 2 )

(1) 3rg fadrfero (2) SR favmieR

(3) Hriifae fasmiie (4) FEHRIES faHmiH
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87. Match List I with List II,

List - I
A :::E}e Tiees naaion I{::xt\dxl mental Rights
. [1Cle- ament 1
o ATtcleds L. Pm[ecuo::gamgt Discrimination
C. Article-19 111. Rightetoraquality
D. Article-21 II\I/‘ Rightl tb“%fe and personal Liberty
Lo 4 R T
‘I‘Jﬁ‘l ¥ T W“Il 1 v R ight lq{‘ reedom of speech and association
. . HEt-J,
WiTem & i ATese ot aifin |
A. STT=%- :
. L R g G0
B. STIWR-15 L S sl
C. SgWI-19 11 S T e A1 1 SR
D. SI=s-21 IV. % @i ud 9o S 1 3T

Choose the correct answer from the opti i ;
te ptions given below *
g few T fosmedl ® ¥ W& W =T hHIT ;
(1)* A-IL, B-II, C-IV, D-I 2) A, B, G-IV, D-II
(3)  AAI, B-II, C-1V, D-I @) Ay, C1, D-IV

" . [‘ (= 1
88. “An attempt of settling disputes with the 11¢1fz.fz)f an outsider who assists the parties in their

negotiations” is called : .

(1) Conciliation (2)» Mediation

(3) Voluntary Arbitration 4) Agjhdication

s T T b Sl At Sl ST forare g 3 S B TS bt S TR 1 el
1 8, ! HEA € : &)

1) gu= (2) Al

(@) s qeed (@) st

89. Which of the following statement(s) is /are correct ?

A. Cognitive conflict means emotional reactions that can occu
personal.

B. Affective conflict focuses on problem-related differences of opinion.

C. Cognitive conflict is strongly associatéd)with improvements in team performance while
affective conflict is strongly associated Wity decrease in team performance.

Choose the correct answer from the options givpn below :

(1) Aonly (2) » Bonly {3)- Conly (4) A and Bonly

ﬁrﬂ%{ﬁéﬁW/mﬁﬁaﬁﬂm/évﬁ%/%? N

A. daﬁmmﬁammmqﬁmﬁ%&hwa&aam%mmﬁmam%l

B. e 3tags i ) T Wt FH g O
meémmﬁgwam%mwmmémw

r when disagreement becomes

@
3t § TG ¢ |
ﬁmmﬁaﬁﬁ@vﬁwmwaﬁm:
(1) A (2) ad B (3) e C (4) ad ATB
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90.

91.

928

Fiedler’s Contingency Model proposes that : .
A.  The key factor in leadership is the individual’s basic leadership style. A
B. Leadership qualities are inborn and innate.
C.  Successful leaders have higher concern for work.
D. Effective group performance depends on proper match between leader’s style and the degree

to which the situation gives contral to the leader.
Choose the most appropriate answer from the options given below :

1) AandBonly in(2) A Cand D only
()s A and D only (4 Aand Conly ¥
ﬁwmwmmmﬁam;%ﬁ:

ﬁﬂﬁwa@m%mmﬁaaﬁﬁiamaﬁaﬁaﬁ%l

A

B. TS ¥ U e w Sufife A 16 O

C. U IgoHaist § Frf % 9y 3= SR 2 &

D. W= rifeeh frearen gt 2 et s s fear 3 < S ameerer e R 3, o
AT I O Y= o S

:ﬁéfﬂmﬁwﬁﬁ@wﬁwmmwm:

(1) %ad A SRB (2) @ A, CRD

(3) = A 3R D @) e A SR C

J

e

\Lw‘

According to Law of Demand, other tlﬁlimg‘s remaining same, there is inverse relationship between
price and quality demanded. What i5 NOT included while considering other things remaining

same ? =
(1) Tastes and preferences of the Con“%ﬂmer
(2)+ Growth of population (@)
(8) The income of consumer
(4) Prices of the related goods
B2 o STER, 374 =Sl (G2 o F9H 54 WA W, S0 S e 1 & 5o foadia gae & S|
STl S HTS GHM =T T dl 1 AHe Tl 8 § 2
(1) S9HERT I 9HS TH S{Fa
(2) “HEE - 3fs
(3) Sl Hi A
(4) Heifa T&gell % g O

—
Which of the following advocates finding a ‘fair day’s work’ and paying workers fairly for that
work ? -—
(1) Scientific Management li;‘z‘) Systems Approach

(3)* Administrative Management y j Contingency Apprc?ach :
frfatad 8 9 SH- ‘3fea 3w w5 Te 39 F o FHFR Dl (90 4 F YaH 6T I 1

e § 2

(1) I e (2) oS
@) T e (4) SRR SUTH




Tee

Ny

94.

95.

96.

Who has started a L
effective views of th
(1)* Dinbandhu Mitra

(3) SS. Bangalee (2)
m%uw@ﬁ?mma;m_m%g (4)
(1) SEy )
(3) TH.UE. a9t T
e

abour Journa

Read the following dialo
Salesperson : This shirt is rathe‘r\t'h‘
Customer : I shall buy it. TR
(1)  Complementary transaction-— ()
(3) Cross Transaction (@)

foshelt SR s 3 < Freiferfias wer s

e Labour ? 1 IDmbandh“' (friends of the poor people) in order to Propagate

N.M. Lokhandey
Bal Gangadhar Tilak

4 @ e < S AT A AR R i o
T S
Ay e feh

eb = indi q
Erepresents’ gu etwee?m sfnles person and customer, and indicate the type of transaction

an expensiye, especially tailored for exclusive tastes,

Parallel Transaction
Ulterior Transaction

e T e e a1l HoTaRr %1 769 ffée Fifa -

fondt: e it o) o W % ok 7 oy g @ S ) AR 3 e S 2

TewH: H W @igm)

(1) T G=ERR )
(B) TIYE R (4)
Match List I with List II.

List - I

HHR HATER
Tt GeAder ()

List - IT

Provisions under Payment of Bordlxuﬁ;}\ct, 1965 Relevant sections of the Payment of Bonus

Computation of available sufplis
Disqualification for Bonus N

Eligibility for Bonus :
. Set on and Set off of allocabk?f urplus

FEit-1 % F19 Feit-11 Fi1 e i
eI -
AT Gy TEH, 1965 & Sidid Susiy
A. UG AR HT IReher

B. 9H9 % fau &

C. <99 % forg 9mren

ST RS

Act, 1965

I Section 9
II. Section 8
III. Section 15

IV. Section 5

-1 :
S W STTUTEE, 1965 ht WMkt &Rl
I )

I X8

Il 1 15

D. TS SR &1 SURAT T §HSH HeT IV, ¥R 5
Choose the correct answer from the options given below :

e fa U fasmedi H 4 W& ST F FEDFIOT :

(1) A-IV, B-I, C-II, D-IIT . (2)
(3) A-L B, C1V, D-II N) (4)

Which is not a type of Safety Audits\-?r
(1) Scheduled s (2w
(3) Adherence to procedures ¢y (4)

A-II, B-III, C-IV, D-T
A-1V, B-1I, C-I1I, D-I

Unannounced
Establish standard

ﬁwhf@ﬁﬁ@ﬂwgtaﬂé@ﬁgﬁﬁwwﬁ%?

=uirs

(1) e (Freif) B
(3) WfsHAA I W ()

STENTOS
HHeh T HEAT



978

98.

99.

aluation of Human Resource Development encompassing

“ 3% nsive eV
HRD Audit is a comprehe teness

Shatgiaayey ices, structures,
tct):r :Sug'Iee\fse; St%\thﬁ:)Sr’th;hIZfé term busin€ss goals of thq organisation.” Who said this ?

(1) T.V. Rao () Hermanssont .(3) Goldsmith. (4) E. Neilsen ;
T ST < sifee o, s, ST W, Gamm, o e depht qen Sre o e
efeprferes s wed] H1 9 FO H ST SR | i A are e S g

R1" I8 Fuq fpgw €2
1) A=A = @) wHTEA () | itesfemer @) 3. s

comMPpetencieg, style and culture and their appropria

Consider the statements in connection with deductioﬁs which may be made from wages under the

Provisions of payment of Wages Act, 1936 :

Deductions for absence from duty ‘

Deductions for house-accomodation supplied by employer.

Deductions for payment to cooperative societids as approved by the appropriate government.

Deductions for payment to the Employee Welfare fund.

Deductions made with written authorisation of the employed person for contribution to the
Prime Minister’s National Relief Fund.

Choose the correct answer from the options given below :

(1) A, B, Cand D only (2) A, B,CandE only

() A, C DandE only’ (4) B, C Dand E only

AN HeT U, 1936 % MM ST ol § 1 e dreft HARE ¥ Hethd He W

TR =ifsm |
A, FH Y SRR T T I S At herfaa
TR B8R YaT Ao -3Tar Taish deffear| -

MO0

B.
C.  FHTIH THR G Tl Fehl T IR T T Geielt e |

D. FHeRt Heam i 1 Y T T Seeh Ff |

E.  FYFHEl T Ted 9 H AMEH o (A st 1 fafed srafa § S S are s |
e fou U faehedi § | Wé ST H T HIT

(1) %ad A, B,C3RD (2) 9@ A, B, C3IRE

(3) ad A, C, D 3RE (4) %9a B,C,D3RE

In which of the following pay plans worker gets
or her performance exceeds the standard ? :

(1) Standard Hour Plan (2 Stx%g'ié;f’at Piece Work
(3) Merit Pay " (4) Commission Plan
P fiet 7 AT A A 3 & A (437) S 311 723 e sy e

oTEH, A/ &R I 3R =61 31 § 2

Apay premium equal to the percent by which his

(1) A Hel/FHF ds @) a@@"{” /AR T
(3) A e (4) FHHEA A
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100. Match List I with List 11,
List - I

A.  Employee Development List - 11 o b4
B.  Ideas for Improvement L Upvtzard Clog\mumca.hor.\
C.  Experience Sharing 1L HonzonltaC Omm§mtciatxon
unic
D. Image Building .fj II. gxternal Communica tol
* IV. pownward Communication
-1 Tl =11 1 et o s
5 “‘"": geit-11
A.  FHIR faem e ;
Lo I gt Swo
B. gUR &g four @) :
ey L A §T
€ SabRIRas) T I
DT (T IV.  spefmt SO
Choose the correct answer from the options given below :
et T T et & QT S B e i
(1) A-IV, B, CII, D-I (2) A, B, G-I, DIV

(3) A-II, B-I, C-II, D-IV _(4)y A1V, B, CIL D-II

101. Match List I with List II.
List - I .

A. Individual responds to a stimulus .
ordinarily produce such a resp

B.  Training through observation ﬁ!cL

Behaviour is determined by conséquences.

direct experience II.

List - II

at would not 1. Social Learning

Classical Conditioning
II. Operant Conditioning

g Learned responses depend on meanings assigned to IV. Cognitive Learning
Stimuli.

Gei-1 % 919 Gei-11 &1 fHaH S :
geit-1 Te-11

A. wﬁamﬁw%uﬁraﬁmm%@ I g A
T 59 FHR k1 SFfhaT (e

B. aa%hmqama%aawa%mm%wﬁrm I Y& STheH

€ aqazmﬁmﬁrﬁﬁufﬁa‘ém%lf““ . fRayEa stqhem

D. magmqaefm%gﬁufﬁaaquIﬁ%ﬁW%l IV. ST e

Choose the correct answer from the options given below :

) forw T ferchedt H W W SR T SALA

(1) A-L B-II, C-III, D-IV (2) ALV, B, CI, D-II

(3) A-I B[, CIII, D-IV*
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(4) A-I, B, C-IV, D-II
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102. Match List I with List IL

103.

104.

List - II
Propounders
Francis A. Walker

List - I
Theories

A.  The Standard of Living Theory of Wages L
B.  Residual Claimant Theory of Wages John Davidson
C. Wage Fund Theory I.. Torrens
D. Bargaining Theory of Wages © ].S. Mill
Teil-1 % Y geit-11 1 e Fifs

gei-1 C gE-1I
A /S Teist St R g L o O ARy
B. TGl Hatt st (eien) fagm AL S Sfasem
C. Isd v fag T 2R
D.  #Sg et Sierert = fagre Iv. S.uH. fua
Choose the correct answer from the options given below :
ﬁﬁqmﬁmﬁfﬁ@uawwwwz
(1) AL, B-I, C-IV, D-II (2)* A-II, B-1I, C-I, D-IV
() A-IV, BN, C-II, DI (4) A-L B-II, CIII, D-IV

A demand for a commodity is constituted :

(1) Without considering consumer’s attitude to

(2)  Demand is constituted when there is only d

(3)> Demand is constituted when only ability to pay is there.

(4) Demand is constituted when both desire to have the commodity and ability to pay for it is
there.

TSl a%q (9o3) =t Wi faftfa 2 8, < - <

(1) %G IR F 391 F AR (FER) ® - fer 3 |

(2) =i s i Bt & 9 g F TN W w5 v A 2

(3)  HIT qt fAfifa St @ S T B F e A
4) ﬁnaﬁﬁﬁa@ﬁ%ma@%mwmwmvﬁ,aﬁﬁfwﬁéﬁ%l

_to have the commodity.

According to section 14 of the Inter-State Migrant Workmen (Regulation of employment and

conditions of service) Act, 1979, how much displacement allowance shall be paid by the contractor

to every Inter-State migrant workmen at the time of recruitment ?

(1)* 50% of the monthly wages or seventy five rupees, whichever is higher.

(2)  75% of the monthly wages or hundred rupeés{ whichever is higher.

(3)  60% of the monthly wages or seventy five rupees, whichever is higher.

(4) 50% of the monthly wages or hundred rupees,.whichever is higher.

FIHT FaTH FHHAR (ﬂwﬁﬁwﬁn@mmﬁ);ﬂﬂuﬁqﬂ, 1979 Fl ¥RT 14 & IER St & qog
“ N d .

Teeh ST YarHl HHBR 1 ShaR gRI faemeT YELh &Y H et SR Tew =) s 2

(1) I JSG 1 50% Sl 75 T4, S o SHF Ry

(2) TG HSIGH T 75% a1 100 79, S +f 3 &

(3) WIS HoEd 1 60% Ul 75 T, < o iy A

(4) TG HGI A1 50% ST 100 T, S +ff S &
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105.

106.

107.

When employers asked
neither join nor partici i
Pate in the activir:
(1) The Conspiracy Doctrine achvm((;)
(3)  Unfair Labour Practi
ur Practices s Collechve Bargaining Agreement

SR e 4
= =0y ﬁmﬁmqmmmm%mm,mﬁm@mﬁ‘ww

empl : :
e Dl type of loyalty oath stating that “The employee would
S of a ypjon” is known as :

The Yellow-Dog-Contract

Arrange the chapt TR ; !
X grehmina r§ ers of the Unorgan@iesd Workerg gocial Security Act, 2008 in order :

B.  Registration I

C.  National Social Securi Board} U i

D.  Social Security Benefittsy R
E.  State Social Security Board for'lUnbrean;

: ] ganized Workers.
SIS FHHT FHIH TR ST, 2008 3 Sy 55 H AT HIOT :
A.  URfys
B. UsiEd
C.  STHTSH FHFRI 3 TLE HHITH TRay =i
D. WIS GREm |
E. 3573 HHRI &g TF TR e ars
Choose the correct answer from the ‘options given below :
i ST e fasedi # | W@ ST 1 TETRIT

(1)SSAUCHB I DS (2) ATD, O B#81 © (3)" AMBADC E" * (4)" "AVD, B, E, C

Match List I with List II.
List - I List - IT
Sections under the Factories . 1948 Related Provisions
A. Section 45 s I.  Power of Inspectors
B.  Section 9 II.  Fencing of Machinery
C.  Section 21 II.  First-aid Appliance
D. Section 20 IV. Spittoans
Teit-1 % |1g Geit-11 1 Heam Hiee :
i -1
TG AT, 1948 <6 AT ERTT Hater W
A. HTT 45 e L e = i
B. HR9 I R SREe
€, @yl I, WufHE SUER Y
D. HR’ 20 I IV. TisheH
Choose the correct answer from the :oﬁtions given below :
=y fau U faeedi # @ W ST B TATH T

*(2) A-I B-II, C-I, D-IV

(1) A-II, B-I, C-I, D-IV
(4)  A-IV, B-II, G-I, D-II

(3) A-L B-Il, CII, D-IV
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108.

109.

110.

111.

e force f; i y
The Inflows and outflows of labour oM one country to another and within occupations on

an annual basis” is termed as : )
(1)  Labour Turnover @ Laboyr Mobility
(8) Labour Absentieeism

" 21 3 g 21 e A ST T T Sty
ftm) " o vq % mremm @ Frefaa {071 ST 52

(1) 79 9ReH ) 79 it

@) sy @) = g
As per payment of Gratuity Act, 1972, Where ap, éix{ployer is charged with an offence, but he
e without his knowledge, consent or connivance,

believes that some other person committed the offap. _
he may bring other person in front of court by giving how many days notice to the complainant ?

(1) 3 Days (2) 6 Days (3« 7 Days (4) 10 Days
SHRH-Fer Sufad, 1972 % ST, 9 et frfmm v sy 57 s @@ S S, g S
T % fop 1 e eafer o1 SHe01 ST, oty sqeqen forefrogm 3 2 97 =) 1R 591 3, 8
AT 3 e R 1 e (G Aeg 2w s1f 1 e w2
1) 3fF (2 6 fd @) 7 f= @ 10 f&

“Referring the disputes to the conciliation ang attending the meetings of conciliation and not
taking certain actions before conciliation process js completed” is termed as :

(1) Voluntary Conciliation (2)  Compiflsory Conciliation

(3) Compulsory Adjudication @) Volugééfy Arbitration

“ﬁﬁlﬁﬁw%mﬁw WWﬁWﬁW@Wamwm@ﬁﬁﬁmﬁ
SR e F €1 5 fohg IR W FAA e s g

(1) wfos gae ) R g
(B) e faform (4) Wfew fifa

Which of the following is correct about the Contract Labour

A. It applies to every establishment in which 20 or more wor
employed on any day of the preceding 12 months as contract

B.  Contractor is not responsible for payment of Wages.

C.  There is provision for Licensing of contractors,

Choose the correct answer from the options given below :

(1) AandBonly (2) BandConly (3)s AandConly (4) A ,BandC

ST 75 (R St e s, 1970 % i § e & 9 w1 o w2

I Y T H 0] © forEd 20 41 369 S HHFR i € 21 & oik % fma 12 A g4

Laboyr Migration

F i afigen] %1 3id:aT8 S Afeate (S SR

(Regulation and Abolition) Act, 1970 ?
kmen are employed or were
Labour.

A.

TRl o e e A 3 &9 & Freiifor fovan T2
B.  S%qR Hugl Had % o Sweerd e 21 o\
C. I%cRI & HIAIYA FI 399 T | \

A4 fow T fasbedi 4 4 w@ SR wmA it ;. ()
(1) #TAASRB (2) Fa@BRC (3) FAMASRC (@4) A BswC
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112.

113.

114.

Match List I with List 11,
List - I

A.  Making strategic choj P
course of busigtzss i determing L Leading
B.  Allocating resources and assipn;j
responsibilities. B = Planning
C.  Shaping behaviour to accomplishype
ing plish'or ML Organisi
D.  Monitoring changes to achieve g@ﬁglc;als Iv. C;%\irrgmg
qzﬁ—lé?maxﬁ'}—nmﬁam%q:t' ) .
T — Teh-n
A. Wmﬁafﬁaaﬂ%{%gmmﬁ?ﬁm%mm L g &
B. wwmmmﬁmﬁaﬁm L &S S
Cy &I F T TR F IHR II.  §TeA oem
D. W&l %l Wi } eggam (FRrt) wfaeds Iv. e s
Choose the correct answer from the opti i :
°t 2 ptions given below :
ﬁéﬁqnqﬁwﬁﬁﬁvﬁwwwaﬁﬁq:
(1)s A-L B-IV, C-II, D-IIT (2 A-v, B, C-II, D-I
(8)RAST SBITR G DTV 4) A, B, C-L D-IV

Which of the following is NOT included in the definition of Wage/Salary as per the payment of
Bonus Act, 1965 ?

A.  Value of any house accomodation .
B.  Any travelling concessions. 5
C.  Any bonus (including incentives, production and attendance bonus)
D. Dearness Allowance st

Choose the correct answer from the optidns given below :

(1) A, Band D only £ .(2) B,CandD only

(B) A, Band C only

"{(@)e A,Cand D only

ST e ST, 1965 % STHHR Fwgh,/ 30 Fi gRern # ffated R e @ e e?
A. THEt M 9HEsH H 9

B. Tl y&R =1 aen famd

C. et YR 1 99 (W, Sde Te surefd sy dfed)

D. HEE He

= fow e faeedi H & FE ST Rl 99T HIC :

(1) 9 A, BRD “-(2) aw B, C¥D
(3) et A, B3R C ) Fad A, C SR D

L ople
ildi i i f employment and conditions of
Building and other construction workers (Regulation of employ . :
:xeivll?:;) Act 19%6, the definition of wages shall have the same meaning as assigned under :
(1) Minin;um Wages Act, 1948+ "7 (2) Industrial Disputes Act, 1947
(3) Payment of Wages Act, 1936 Ll (4) Payment of Gratuity Act, 1972 &
s 31 o7 TR (ISHTR fafam o e wd) sifefem, 1996 % STTER HOGH i TSI 6l
2t ST B S iR o ST T B e
(1) =gHAqH Al AfufTEE, 1948 ) aﬁa‘rﬁ@ foame exfufam, 1947
(@) e Her FAfuferE, 1986 (4) SYSH Hed AfufEm, 1972
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115. Match List I with List I

List - I ;
Section of Industrial Dis

A. Section 2(j)

B.  Section 2(kkk)

C.  Section 2(00)

D.  Section 2(p) :

-1 % | gei-11 7 el IS ¢
qEI-1 :
et faare fitEd, 1947 1 ETT

A, HR 2()

B. ¥R 2(kkk)

C. ¥R 2(0o0)

D. &/ 2(p)

putes Act, 1947

List - IT

Definition J
L Retrenchment
I, Industry 1
III.  Settlement (
IV.  Lay-off

- ei-11
g

L - gt

| O

[L-gffaeior

V. e

Choose the correct answer from the 0pHODS given below :

9 forw T foreped 3 R T Se o P
(1) A-IL, B-IV, C-I, D-III (2)
(8) A-II, B-II, C-1, D-IV

A-1, B-II, C-1II D-IV
(4»  A-I, B, C-III, D-IV

116. “If you wish to plan for a year, sow seeds; If you wish to plan for ten years, plant a Tree; and If you

wish to plan for a life time, develop men.” Who said this ?

(1) Peeter Druckers (2) Chug Tru (3) BillGates (4) Narain Murthy
e ot e & o it 319w i & I A S W) < |, At @ 10 9 T A
AT e € A U S e, SR A S S 4 3 o AR s =ed & < e b et e 119
(1) =g @ 13 O s e (@
117. Match List I with List II.
List - I LisEyIT
Stages of International Business Approaches
A.  Domestic Company L. Polycentric
B.  Multinational Company II.  Ethnocentric
C.  Global Company III.  Geocentric
D. Transnational Company IV. Mixed
Feit-1 & T Fei-11 1 e HifT :
Heft-1 HEt-11
ST AT Tt ST W/gﬁzﬁm
A. e FEH L RS
B. SgURE &l II.  Jofiideht=e
C. df¥as &t I ¥ %fsh
D, R (ZrETREE) S v, f
Choose the correct answer from the options given below :
= fau 7T fashedl § | WE ST H T HISC : (@)
(1) A-I, B, C1V, D-II“ (2) A, B, GV, D-1
(3) A-IL B, CIII, D-IV (4) AV, Bl C-I1, D-1II
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119.

118. Which of the following three tiers (lev

els) of industrial activities proposed by T.A. Kochan in his

three-tier-structure of Industria] Relationg »
S ¢

A.  Strategic decision making

B.  Collective Bargaining and Personne] Polic ;
C. Workplace, individual ang Organisatiop, -
D.  The Network or Web of rules

al relationships

D. g a1 sl =5 e
ﬁﬁﬁqmﬁﬁﬁﬁu@mwmmaﬁm;
(1) F9A,BC (2) ¥@A,CD (G) %@ B,C,D (4 ¥ A,B,D

g methodsa-panel of experts respond to questions and to

In which of the following decision makin
each other until reaching agreement on an issue
A.  Dialectical Inquiry B.  Nominal Group Technique
C.  Delphi Technique D. Brainstgrming
E.  Chain Reaction 3
Choose the correct answer from the options giveﬁ*bglgow ¢
(1) A and B only (2)+ Cand D only
(3) Eonly (4) Conly
efefed | 9 oy fuiem gfsran faft & e 9ot T th-om | Twgiar 88 s Tosiosi o1 © e e
1 ST <l © a1 STTH H &1 HLl © 2
A. BgIHb g1 B. IR W ! gfafy
C. S g D. foregge
i fqQ T fospedl # 9 W& I A T R
(1) %9 A 3R B (2) %aalcv-;ailz D
(3) %o E (4) FFC
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120. Which of the following

121.

122,

a perfectly competitive labour

is true at the poing ¢ equilibrium in

market ?
A. Marginal Revenue Product of labour <

Marginal value product of labour.
B. Marginal Revenue Product of labour = ), P

larginal Factor cost of labour.

C.  Marginal Revenue Product of }allzour = Margina] utility of labour.
D. Marginal Revenue Product of afOur - Margina] utility of demand.
Choose the most appropriate answer ro‘?'ﬂle Options given below :
(2 A and C ({nl)g G) B and D only (4) BandC only

(1) A and B only
FEReft ol et o1 AT A T R e i o 2

A T T i ToTe IR = A7 W gy o

B. W 1 i Toret s = 9 1 T e <

C. 9 1 Wi T IR = A F Sy

D. 9 1 it Tl IR = H A W Sery
ﬁéﬁqmﬁmﬁ@mwaﬁﬁwww;

@) FWARE (2 FA@AIRC (3 FIABIRD  (4) Fad BHARC

“The failure, refusal or inability of an employer on account of shortage of coal, power or raw

material or breakdown of machinery, Natura] colamity or for any other connected reasons to givs
employment to a workmen whose name is borne on the muster rolls and has not been retrenched

is termed as :
(1) Lockout (2) Lay-off (3) Dismissal (4) Closure
"B, e a1 =y Aot 3 s SIS TR et o7 W, W ST 3 RO e R T

HEH HRO F i g 57 HHHR A, @_Wq@ﬁaﬁmgmmﬁﬁaﬁﬂi%

ﬁwaﬁaﬁﬁm,a@ﬁaww@:ﬁmm@mm%?
1) e (@ B (F-SE) e § Siet

i

Match List I with List II.

List - I List - IT

A.  Testis measuring something consistenty L. Criterion Validity
B.  Scores are related to job performance II.  Content Validity
C.  Test has fair sample of tasks needed for a job IIl.  Reliability

D.  Selection procedure measures a factor that IV. Construct Validity

is important for successful performance

T~ % 1 Gelt-11 1 i Fii -
Teit-1 HEi-11

A, TOE R G2 B FRA AT e i) L HMUS dean

B. famd (¥R) & froareq & wafem B & I fova-g%g ea

€ qﬁwﬁmmﬁ%gawﬁaaé{ﬁw I foveeear
T FfoEt T S £ |

DS amuﬁm@mwwm%jrﬁm Iv. ffHfq e
o917 &9 Fegl g & Ch

Choose the correct answer from the opti "-éiven below :

ﬁ%mmﬁaﬁﬁr’ﬁ@vﬁmmw%@:

(1) A-II, B-I, C-II, D-IV. (2) A-IL B-1V, C-III, D-IT

(8)¢ A-II, B-II, C-I, D-IV (4) A-II, B-III, C-I, D-IV
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124.

{258

W A 3
A lways moving, Walking and le charaderistic feature(s) of Type A Personality ?

g Trying.to do two or more thingsa: 5 Py
S ;)perlatmg under a low level of stre e

. CrRa : SS.
; phasising quality over quantity,

Play for fun rather than to PTove themse]
elves,

Y 2 only 4
‘ (), candDonly (4) C DandE only

B.  UH WA U A1 1 el 9y gy
(e gﬁiﬁaﬁ?ﬁﬁwmmmrf B’
D. I ht SISTRY VIl 3 STt Yo e
E. ST 39 & Wil Y $1 1 Tomee ’
—HST § e R |
= T T fored @ W SR 1w i
(1) e A (2 =B (3) ¥FMCHD (4 Fa@C DRE

Which three of the following noted leaders were founder members of the Red Trade Union
Congress ?

A. S.V. Deshpande (JB.  GL. Khandelkar

C. B.T. Ranadiv L¢ R.R. Bhalla

Choose the most appropriate answerrém the options given below :

() A CDonly (2 ABConlyr (3), BCDonly (4
TEfaiEd 3 9 $H F T4 117 01 & SedfRe Hirg & SeTs 9ee 92
A. TEE. YEIS iR ARCLEIGCRY

C. 3. wifes D. SRR ¥l

=i e e fashedi ¥ § Ha® SUged S 1 997 HIT :

(1) *99 A, CD (2) A BC - (3) *9@BCD (4 %94 A BD

A, B, D only

Employee Empowerment does not mean :

(1) Everyone in the organization is valued and trusted.

(2) Organisational culture is open %nQFesponsive to change.
(3) Close supervision of seniors to eh,'siilre results.

(4). Flat organisational structure. '
AR TR HT I TE &
(1) e % Feidh oA 1 e gl el € Siit 98 T foreart fefan e 1
(2) TREEH % I S Hepi Gei-(3HE) A SR 2 ¥l
(3) R GRAREd 0 8g aRS! HEARTEE e

(@) TUR HISHH T

055
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126.

127.

128.

Which of the following statement(s) 19/ 00t cortect about a psychological contract ?
A, It isa written agreement between €Mployer ang employee.
B.  Itinvolves.each party’s mutual eXPectations,
C. It means that management will treat employees fairly.
D. It means that employees will hOId.a 800d attitude and show loyalty to company-
Choose the correct answer from the OPHOuSEiven belgyy
(1) Aonly 2 B only 33)* Cand D only (4 A B, C and D
TR T e 5 SR A FERTeT RO Y 3 w1/ e we e /8 2
A, T P T e % S O R ¥
B. e We var w1 W AT Y B
C. <o ST ¥ fF e HHAIE § SRR § weer w2
D. 35! 3¥E & fi HHR Sad ST SR R o1 St 3 Wi Fret Fafd B |
T g e ferhed 3 9 T SR 1 A H
W Fw=a (2) B () ¥@CaRD (4 ABCSRD
What type of unemployment is also called Keynesian unemployment ?
(1) Structural unemployment (2)=~Urban unemployment
(3) « Cyclical unemployment (4), Frictional unemployment
SIS 3 -3 FR 1 e ST 0t e 2
(1) SEAHS SASERL
(38) Hfshen SRISFIRI
Which of the following represent(s) a system of splitting a full-time position between two people,
each of whom works part time ?
A. Internal Alignment B. Compressed work week
C. External Alignment D. Job sharing
Choose the correct answer from the options given below :
() BandDonly (2° AandC “~{3) Aonly @) D only
ﬁqﬁf@aﬁ@ﬂamﬁaaﬁf%mW@W%ﬁWﬁWM/W%%/? o A T
A. A gASH B..Loxdifed %@ w<ire
C. &g D%srﬁ TR
9 feu e fashedi # | W@t ST A 94 DG :
() ¥@BIRD (2) F@WARC (3) F9A (4) S D
i .
055
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129. Arrange the Collective Barg

130.

131.

aining Negotiat Fets
A ati . beginning to end.
AL Bargauung stages 5 OnPPmcess (romt eg g n

# reparation Stag

C. Agreement stage D Di tage
. iscugsion St

A, HIREHR STEwy B, ;}j?m

C. IR fFeqn D‘Qéw

Choose the correct answer from the options givén\ﬁelow :

A R T e & Wl SR i, S

(1), B,D,AC @ B,ACD o SR C @4 D, A CB

Arrange the steps of job analysis in the correct sequence:

A.  Organisational analysis B.  Selecting representative jobs

@ Understanding Job Design D. Collection of Data 3
E. Developing Job Description F. Prgparmg Job Specification /
e FoeTon S S < W o At F

A, HTeEH favamm B.  witaratee

C. < SAfWehed H THFN D. ﬁij@Tmfﬂ

E. & faau sAm F. ﬁﬁﬁ%m AR A

Choose the correct answer from the options givé:'n b:jelow :

= feu e faehedi # 9 Wat ST 1 98T FINT :

(1) A,BDECF () F AGCBD,E

(B EAABACIDAE SH (4) A,B,GCEDE

Which of the following are fundamental rethinking and radical redesigns of business process to
achieve improvements in performance through feengineering according to Hamer and Champy ?

AT Cost B.  Quality D. Customers

Choose the correct answer from the options giysn_i;elow g

(1) A, B, Conly (2) B,C, D only (33); WA C Donly (4 ,A B Donly
Wméﬁ%mmmﬁwmﬁgmaﬁﬁmwm%wgﬂﬁmﬁw
yﬁfwﬁqﬁf@ﬁﬁ@w@%? @)

A. @Fd B. Tl C. dam D. 7RS

3 fam U forehedl H @ W@ SR H1 FAT (I :

(1) %ad A BC (2 ¥9@B,C,D (3 F@ACD (4 FaWABD
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132. Match List I with List II.

133.

List - I List - 11
Category of Workers : Approprime Meaning
A.  Unorganised Labours ; Workers carryout remunerative work within their

homes as independent own-account producers or
dependent sub-contract workers.

B.  Informal Workers 3 IL Workers who are engaged in domestic work and not
' need any special skills.
C.  Home Workers EL L The workforce who have not been able to organise

- in pursuit of a common objectives because of certain
¢J constraints,

D.  Domestic Workers COV. Al workers in informal enterprises self employed
workers and those doing contract work for
enterprises and contractors.

S % W17 ft-11 7 fireT T ¢
et-1 Helt-11

FHEHR @t Sroft SUTE I
A, srifa afgs L HEER o R A o st R s s
S S e 3 e e 6 e
2 gl
B.  smimif waw B 11 2 e < g o AR T o
’ eS8 BT~ CEFISH FT STvaRal e B £ 1
C. T’ (M) wHwR CONIL 5% et Sit ey aremisi 3 R0 | <3 @
C W1 (Fe) F % forw wfeq 2t drg 6 & T
D. ®q FHER V. H*ﬂmﬁwﬁmmffﬁ—ﬁ?ﬂﬁﬁmﬁlﬁ%
# 9 Serdl SR Wfaarwdien (ShaRi) % fow W
STHIRE &1 d e £
Choose the correct answer from the options given below :
ﬁ%ﬁqwﬁaﬁﬁ@nﬁwmwaﬁfm:
(1)® A-II, B-1V, C-I, D-I (2) A-II, B-II, C-1V, D-I
(3) A-II, B-II, C-1V, D-I 58(4) A-I, B-II, C-III, D-IV
Which theory of Labour Welfare is ibii)ed on the contention that minimum standard of Welfare is
necessary for Labour ? N

(1)  The Religious Theory, N (2)  The Placating Theory
(3)  The Police Theory (4)  The Trusteeship Theory

AP BT 1 HIH-T1 fFgm 379 SHIR & o =[TH eaor-aen sfes 3q stawas &2

(1) enfie fagrd (2) VTR (wiRfem) fagia
(@) 9few fagi (4) = fagi
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135.

136.

134

. Match List I with List 11
List - T :
Causes of Deductions
Deduction for recov
Deduction for dama
Deduction for abse:
Deduction for Serv:

ery of Loans
ge or losg
nce from.dy.
ices renderedq

A.
B.
@
D.
AL e G151 frerr oy «

List - IT

Sections of the Payment of Wages Act, 193¢
I.  Section 9 ’

I Section 10

III. Section 11

IV. Section12 A

Heit-1
Tt 3 wror qet-I
A R TR F R o TG A S, 1936 3 e
B.  THUM A1 = % fou sy g e
C. 7 sat 3 -
D. < 7K JaRi ¥ faw s g g
Choose the correct answer from the options give bIV. %IRT 12 A
T TR T foe 3 e s

(1) AV, B, C-III, D-II

(3)s A-I, B-II, C-II, D-IV

Which of the following is true as
A.  Cutin Money Wage is the

B.  Expansionary Monetary P
(C

D.

2
@)

A-IV, B.111, C-II, D-I
A-TI, B-I11, C-IV, D-I

Per modern economists ?

(1) AandBonly (2) CandD only

best way to increase labour demand and bring full employment.

olicy is effective in increasing employment.
Flexible Wage policy is instrumental in achje

Money illusion does affect Iabour union.
Choose the most appropriate answer from the o
®)
STYfeh SFeRMAEEl & STER fFrefafad § 3 #i9 v& 32

ving full employment.

ptions given below :
Aand Conly (4), BandD only

A, Hifeh TSl | T 7w 7 A i T ol e fefit T 0 w0 wS a3

B.
(€
D.

THURIE Hifseh it AT § g ¥ T 2t &1
Sl HSIgd i qot ISR <kt Feerf 9t ey # wer ot €
1 (Hifgeh) 99 99 Tl 1 GHIfed 5 § 1

I e U foashedi # & Hed SUgeR St ol =9 T ;
(1) a9 AFRB (2) &

C 3R D

®)

%ad A SRC  (4) Hod B ARD

Which of the following methods of performance appraisal assumes that all groups of employees
have the same distribution of good or poor performers ?

Forced Distribution Method
(4)e Check List Method

fo1E Hedich bl AfeEs P-4 faftl # 7 J S & fo oft Heier sl # o7 @ T e
FHal femH @ € 2

1)
®)

1)
®)

Graphic Rating Scale
Paired Comparison Method

ek IS AT
Ffraq ger fafy

(2)

2)
(4)

fard faaor fafy
e w= faft
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T n fi 2 .
137. Who among the following 15 KIgR "ot developing ideas regarding constructive St cdand

co-ordination ? @
(1) Henry Fayols 4) Chesler Barnard
(3) Mary Parker Follett ( Max Weber

Frerfifan § @ frd e ST O ST F Ty § faam faesfad S0 3 e 1 ST 22
(1) T FE ~ Q) =
@) # gE BeE (O @) g A
138. Which of the following is the right t© advise but 1ot o command others who are not subordinates
in the chain of command ?

(1) Line Authority E’ (r  Staff Authority

(3) Line Function 3 £ (4)  Staff Function

Freiffaa & 8 $17-9 3 o7 S AT N sfaen 3§ s 78 3, 57 T &3 T AR @ S fig
THISIT 1 76 & 2

(1) < (SRF) R () =% iR

(@) dfE () yHE @) =i yed

139. What does Convention No. 111 of LL.O, address ?
(€4 Equal Remuneration convention
(2)  Discrimination (Empldyment and Occupation) convention
(3)  Right to organise and &gllective Bargaining convention
(4)  Abolition of Forced Labotir convention
SR 59 W6 (ILO) F-eT¥Ed §&l 111 § freifers & 9 fopmd gafd 372
(1) wHF wRais afweat <
() T2
(3) Hufed 21 &R afes AR AT F SR
(4) <[ g8 3oAeT ATHEHT

140. “In a socialist democracy, labour is a partner in the common task of development and should
participate in it with enthusiasm.” In which Industrial Policy Resolution the above statement is

given ?
(1) The Industrial Policy Resolution, 1947

(2)  The Industrial Policy gsqlution, 1948

(3) The Industrial Policy Resolution, 1951

(4) The Industrial Policy !_ﬁlution, 1956

" TEEIE A H Al R % A H SR 2§ SR S T s W gewn i
=fen’’ | 39da H97 fFg ifd Hehed | et &2

(1) AN Hifa Hehey, 19%]_

(2) SiEnfTE Hifg Hehey, 1948

(3) 3WENfTF Hifq Hehed, 1951
(4) St Hfifd H6ed, 1956
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Read the following Passage carefy]]

Global unemployment rate is Syt’ :‘“d answer question No. 141 to 145.
S e i A *
concerny, stated in the International Lab © Increase in (4 while growing social inequalities remain a

s 2024 report released in Vieng. our Organisation’s (ILO) World Employment and Social Outlook :

pelow pre-pandemic levels but global g ey, Joblessness and the jobs gap have both fallen

that growing inequalities and st agna::];il,}:oymém will rise in 2024, the report noted and majntained

spositiv e” compared to other G20 countries, :si’\;lc?i,ngrf c:x}:merse Pfg:tconcern. In India, real wages are
o the >

The Report said the macro dmic ;
€CONOmic environment deteriorated significantly over 2023. “Ongoing

geopolit:ical tensions as well as persisterit NES : ;
EC ol banks,” stsalll %\)/Ione' and broademng inflation triggered frequent and aggressive

the fastest increase in interest efary)authorities in advanced and emerging economies implemented
rates since the 1980s, with significant global repercussions, it said. China

Tirkiye and Brazil slowed d si : i i
e own col??uierably, causing adverse impact on global industrial activity,
(

desOtln Eiu ‘}:Jcl)qslh\trlc_: note, .th.e report scaiid,;" despite the economic slowdown, global growth in 2023 wa(s
modestly higher than anticipated, andilabour markets showed surprising resilience. “On the back of
strong jobs growth, both the unemployment rate and the jobs gap have declined below pre-pandemic
Yalues. The globa'l unemployment rate in 2023 was 5.1%, a modest improvement on 2022. The global
jobs gap also saw improvements in 2023, but at close to 435 million, remained elevated ,” the report said.
The labour market participation rates had also largely recovered from their pandemic lows.

: “Although the imbalances eased somewhat in 2023, concerns are rising that these labour market
imbalances are structural, rather than cyclical in nature”, it warned.

Feifend TR it S gEe Ufew 31, §oF WEAT 141-145 3 ST S |
Sfvareh SRS 31 9 2024 H G- ST & o agdl g8 FHSTeh (ol fo=l bl ot o gl &
ﬁmmsﬁ@gﬂanaﬁﬁmﬁaﬁaﬁ@am@m%éﬁﬁﬁﬁmﬁﬂwmm:w, 2024
(S T WU T SST: $S9-2024) F1 RAYE § §1 Aehdt b A SR AHiAl H ST A 5
T T ST Biet 3 T e R o e o & e o 2024 H S ST H 9@l At
T e § gwitan 7 SR WY g 39 o Seera feran T T Sad €8 Tauman a1 €5 Sceehdl o=l &
favg €1 9Rd H 998 20 (S1-20) 3 377 2R ST ST Hegd I €, e o Rt H s 7 €|
£S5 T 5 A 2023 H 9es e aRERe # wgd S TEe @l TSR TS
W%ma-maﬁwmmﬁﬁmﬁﬁ%wmmﬁqﬁﬁﬁﬁnﬁwmﬁtmm
33T T, 3HH Seaid a1 T 3 R ST g STefrere A g H 1980 6 T U & <A U H welfew
ﬁ@a@ﬁﬁmﬁmwmmwmuww,wﬁmmnm =, Tl AR St
ﬁa@wﬁwﬁwﬁﬁﬁwéﬁw%aﬂmnﬁﬁmﬁéﬂaﬂ?wwmﬁawl
Wﬁmqa%mﬁm'wﬁmﬁ%ﬁa%waﬁ2023ﬁ%ﬁamqrzaﬁqﬁﬁQit:s’r
Sfires < 3iT 79 AR A ST SR AT e g8 | “ et USTR F g o TTaT SRS &
ﬁhﬁmﬁﬁ%uwmmﬂﬁmﬂmﬁﬁ#w@wﬁ(ﬁw)m%l 4 2023 H AftEs
RIS <X 5.1 e ot Siifen o 2022 SH-ger B AfGH GHR A E | a9 2023 T Sfvee ARl F ST |
%ﬁgwg&rﬁamwmfaﬁwﬁ@@m@nmﬁqﬁﬁmw%l 97 TR Ter 1 <l 7 o Here
W@ﬁmﬁwaﬂwﬁa@%@é?ﬂww%'
quﬁaﬁzozg,ﬁamgaqﬁm%gm@mﬁmﬁwmmﬁm@%ﬁﬁ g1 TR
aaﬁaqaﬁaramﬁmﬁmm%"ﬁéﬁwmﬁ%ﬁﬁéﬂé%l
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141. What significant actions
n11)acro economic environmen

(é;‘ Implemented the fastest increase in interest rates since the 1980's

(4)

R 3 T 1q e 3 ST R 88 T s o 3 e (<4 g &9 A A

: netary : :
did monetary authorj deteriorating
; : i ¢ to the dete
t, as mentionedq in the r:s’o:t“]?‘e in response

Decreased interest rates

of the same leve]

Maintained interest rates
e economy

Stopped intervening in th

TR 3 - el (T T 8w

1) =9 g T it oy
(2) = 1980 % wwrn § @ ST § T SRy ey foen
O I T e G TR
(4)  Syeferawen ¥ TR FT OIS (o T s
142. What did the ILO t note about the ma O\ 5 ; "
@ Sy 0T O S e
(3)s Deterioration . @) Unprediet ability
¥ 2023 3 ez R AR 5 AR TG 73 2 = fedyd 4 Frifd 3 @ foheep Sear@ o
=2
1) e () i guR
(B) smEdfa (firEe) @) ST

143. According to the report, how do real wages in India compare to other G20 countries ?

1)
@)

144. What concern did the ILO report raise regarding 1=

(L
2
©)
@)

)
)
®)
#)

Unspecified (2) Negative (3) Neutral (4)s Positive

RO % SgR, Si-20 % 3= [ H1 I F 9RG & Sreaforss worgdt #1  grefd 2

s (2) R (G) ‘gz () (4) ST

ur market imbalances in 2023 ?

Imbalances are structural, not cyclical
Imbalances are improving consistently
Imbalances are temporary and cyclical
Imbalances are solely caused by geopolitical tensions.

¥ 2023 T 99 SR S & 9R H SARALE 99 Fe g 41 Fo= He i TS 2

ST = T 1 ST HOEAS W % €1
FHge FRR AW e

SHIeH T SR =h < |

Faa Y-St A & STHIE HId e € |

145. Despite the economic slowdown, what positive aspect did the report highlight abQL(t global érowth

in 2023 ?
(1)« Modestly higher than anticipated global gro%

(2)
(3)
4)

1)
2)
®)
©)

Decrease in global unemployment rate
Increase in global jobs gap Lo :
Decline in labour market participation rates.={- 3

G2 & afde Tl & amasE au 2023 § dftad s Haw  fHH FHHeH T B S A @ w2

v gfe Fed Y A AR W )

Afyeae SRS X H fiREe oTE | ~—
SfYae TSR S0t | 9fe & | ®))
FH ISR {FAERT 1 &4 H STafd & |
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A recent Teport revealeq
in India. The Periodic Lab T
Programme Implementatiop, o lober
pushing the FLFPR to 37,0 pon.ocober

ignifi s

our FOngT; Sfxa,-‘:,t lc?{p N the Female Labour Force Participation Rate (FLFPR)
9, demi,pml 2022.23, released 'by the Ministry of Statistics and
Percent in 202‘3t Nstrates o remarkable increase of 4.2 Percentage points,

This growth reflects g ositi e 2

participating actively in the Vsorl:flgfc eshlfthl.ll:the Country’g abour force dynamics, with more women
stride towards women'’s empowerment ; 1§-§ubstanﬁal increase in the FLEPR signifies a considerable
development. = : U}Etr active inyoyementin India’s S0Cio-economic and political

y

The Government i S

of India hag ¢ isi

workforce, focusing on their Iong-ternlawkeé%ﬂ‘eslswe netions to promote women'’s engagement in the
¢ }ﬂflg.. _This comprehensive approach encompasses various

tages of women’s lives i 3 (¢

stag es, including substantiz] nitiatiyeg targeting girl's education, skill S e
the Workplace. Government policies and legislation
NCing the agenda of women-led development, by

omoting o iti i .
pr & OPportunities for women n education, skijjs and entrepreneurship, and by ensuring a safe

: tS"I'?e Increase in FLFPR n(?t only reflects Women’s growing participation in the labour force but also
pomts towards a broader societal transformation, Where women are increasingly contributing to the

rg

natlon‘ S progress and their' OWn empowerment. This achievement underscores the government's
commitment to gender equality and women’s rights, making strides toward building a more equitable
and prosperous society.
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146.

147.

148.

What comprehensive approach has the BOVernment of [ndia taken to P emgsment 149
I the workforce ?

Q) Foql_\ging solely on women's lofTS‘ft’l’m \t'ell being,

@) Initiating policies targetting only Women's education.

©) IgnOl’ing gender equality and MEN'S rights altogether. hi
) Implementing initiatives cOVerng girl’s educatign,.skill development, entrepreneurship

fadilitation, and ensuring work-place safety. : ;
YIRS TR 3 e  Hiee- HFIE T TEH ¥ P i A ST 2
(1) S afeensl 3 A T R S Hag s
@) S5 ufen fen 21wt $O A R R sy 2070
@) T Fo T - T e o Y <4 % g
(@) =i fre, wivrer faer, SAA SR TS e e GEd F0 9l e W w15
DT

.What does the passage suggest about the impact of government initiatives on women's participation
n the workforce ?

(1)  They have no significant impact on FLFPR.

(2)  They have led to a decrease in FLFPR.

(3)+ They have contributed to a remarkable increase i FLFPR.

4) They have primarily focussed on excluding womeh({from workforce.
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What does the increase in FLFPR signify according to the passage ?
(1) A decline is women’s participation in the workforce

(2)2 A stagnant trend in women’s empowerment
(3) A considerable stride towards women’s em

economic and political development )
(4) A decrease in government initiatives for women's lehgage
TR S STTER T T T W R # g e £
(1) v & afeensi @ wwiew § & c
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powerment and active involvement in socio-
@)

ment in the workforce.
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149. Which one of the follg

up

9 150.

wing terms has been usg

. ed ¢t scribe the Governments commitment to
gender equality and women's rights in the pass g

age ?
(1) Gender imbalance () Women.led development
(3)s Practical dominance ()  Male-cengric policies
mﬁﬁnﬁamﬁw—awmm% (Si=R) HAIqr el Afeatl-STUHRI % Ui SR F Sfaga
&l AT *Y foven w32 O
(1) o iz swigem () T fa
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Which one of the following ministry released the peifidcfic Labour Force Survey Report
2022-2023 ?

(1) Ministry of Labour and Employment
(2) Ministry of Finance

(3) Ministry of Child Development

(4)s Ministry of Statistics and Programme Implementation
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